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Time : Three hours Maximum : 100 marks

SECTION A — (40 x 1 = 40 marks)
Answer ALL questions.

Choose the correct answer.

1. From the environmental point of view, the best way to manage
the water resources is by

(a) Building dams and reservoirs (b) Water diversion projects
(¢) Desalinisation (d) Ground water use

FOMFEGLPD Crrédle, B cuerdans UMEIGTEGLD SnbHE euld
(=) Simamsdr sl (hgd (<) B wroms HiLmsd (§) sLobr
s58s Mz () Hleossig B Lwemum(

2. Which of the following occupations is not related to tertiary
economy?

(a) Transport (b) Hunting and gathering (c) Trade
(d) Communication

ELpeu(meuaTeudHmeT ELPEITMTLD BleneL] QummerrgrrsCsam(®
QarLmlereorsg) eTg?

(=) Cursgeurss (<) CaulerLwr(hsed LOHMD 2 arey Caamsse
(@) agzsbd (FF) ss6u60 GFTLTL
3. In monsoon Asia the type of agriculture practiced is

(a) Extensive farming (b) Mechanised farming (c) Only
commercial grain farming (d) Intensive subsistence

gfwureller LmaussTHN 6isFd LEGdHsailer Werupplin@b efeugmw
CHY

(=) urbs eleusmud  (=,) Qubdrmsamens Caream® eleugmwid
(@) euranflu eleusmud () $elily gevraepme efleusmwid

4.  Which among the following is the finest variety of coffee?
(a) Arabica (b) Robusta (¢) Liberica (d) None of the above
ELpeu(BeUETELDMIET 6TE STLOTET ST EUENSWIMELD?

(o) <rmisr (=) Quruevir () eeolflsr () Qeupmer
eTEI6 LA OENEL



Compared to coffee, tea is mostly cultivated in densely populated
region because of

(a) Cheap labour (b) Availability of local market (¢) Availability
of flat lands (d) Well developed means of transport

smluLer ublGD Curg GCsuiame, <ds wbEsTLIHS 2 drer

uESsafler LuAMLLLIL & sTremTd

(=) eopbs oaflug Cgmflomariser (2),) o6dT@HT  FHMS
(@) swleiail LEdlser (rr) CuTE@GTSS) euFd

Sao Paulo is the most important coffee growing region of Brazil.
This is because of soil.

(a) Black (b) Alluvial (¢) Terra Roza (d) Red

CrHelled 2 ater smCeur CurCar smd aflenerdgaiicdr Slppbg elemmis

SHITTERTLD LD GUOT.

(=) sflged (=) euadred (§) Qigm Cpmevr (i) Heuliy

Slash and burn agriculture is the name given to

(a) a process of deforestation (b) shifting cultivation (c) a
method of potato cultivation (d) mixed farming

‘SIfBgl MBS0 elleusmLDd erevn eramE GLwim?

(=) srhsmer AWNSGD @ wen (<) QLrom  eleugmuib
(@) 2maener LUAAHIL wWer (FF) HevLiL) efleugmuib

Which among the following is not an important characteristics of
Plantation Agriculture?

(a) Estate farming (b) Foreign ownership and local labour
(c) Scientific management (d) Animal farming is done along with
plantation

Epeu(meuaTeLDMIET 6Tg) LichTanamT elleus T (LpenmUAET LIGRTL| feba?
(=) eranvGLL efleusmu wpanm (=) Geuelipri(h psemetl HMILD

2 am@pm  Ggmflemafl (@) sfleflwe fHurer Coeremenio
() leusmusCam(H sroBaL eueTTUILID CFTHbegl

Mixed farming means

(a) Growing paddy mixed with black gram (b) Growing wheat
and oil seeds together (c) Agriculture and livestock rearing is
done (d) Mixing intensive and extensive agriculture
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LIl 6SleUFTWILD 6T6TLIZ

(=) Omeoguer o @phg LWANHSD (=),) Carglanu|er eTenml e i
dsgisemer LUANHZD (@) edleusmupd srobeL eueTTlLD Cabss)
(/F) Sy HmID LFHS efleusmuiid

Grand Bank is a major producer of

(a) Paddy (b) Marine fisheries (c) Ironore (d) Tea
Sgrerrl U ergen 2 HUSHSEL QuwTCUDHDE?

(=) Oped (=) sLe Benser (@) @mwys srg () Csuilama
There are rich fishing grounds off the coast of Peru and Chile for
the reason of

(a) Shallow continent shelf (b) Convergence of cold and warm
currents (c) Upwelling of water from deeper layers (d) Flow of
warm ocean currents

el wPMID Qup sLpsmrssiLTD Wanlgs Qgmid Hpbg elermhis

SITTEUTLD

(<) E@DEE PooLW s@ILSEHLE () Gefli wpmbd Geiliu
BCrmlLmigaflan gmsod  (§) WWsHNmHg sLoBT Coblepsd
(/) Qeutiu BGymLgHler Cums,

Inland fishing is extremely important in

(a) Japan (b) UK (¢) USA (d) North Korea

o e Wemg iy fpliunss sreeriL®ib Bk

(@) suurer (<) Qmidorhg (Q)) <Cwlss spsdu BrHser

(7) euL Qamflwmr

Which country of Europe is famous for dairy industry?

(a) Denmark (b) Norway (¢) Sweden (d) Switzerland
sCrmiureien erbg BT LTOUETENaTS CSTLHIHE, LsplLUmmg)?
(=) QLenonmé (=) priCGeu (@) seiLen (/F) sell FTembg)

Which of the following is an atomic mineral?

(a) Thorium and Cobalt (b) Vanadium (c¢) Uranium and
Thorium (d) Cobalt and Vanadium

ELDeU(HeUETELDHMIET 6T IS SerflLoibd?

(=) Casmilwbd whmibd Camurel (<) euammqwd (&) wGreflwibd
wpnid Casmflwd () Camumel HMILD euETTIgWLD
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Mesabi is famous for producing in the USA.

(a) high quality of iron ore (b) highest percentage of lead ore
(c) lowest percentage of iron ore (d) lowest bauxite ore

90w M&s psHw Briiged 2 6rer Glwamd 2 HLGHEE
Quuwit QuHog

(=) srb aurlps QmLUS &gl (<) <Adls 568 srilug s
(@) Goparar ssaildls QmbUS sM1g () GODHS ST U

UT&mEL STG)
Which of the following industries is famous in the Ruhr

industrial region of Europe?

(a) Textile and Chemicals (b) Steel and Engineering (c) Cement
and Paper (d) Ship Building

Crmiureler amm LGS DG UsPELDDE)?

(=) Qpse] wHmbd Geudls CSTHHSTMOSET () 6Too@ LOHMILD
Qumpllwe  Csmfihsramesar (@) SOwerr. wHMDL  STHBS
QamheTena&ar (/F) &L s (HFE

Which of the following is a fibre mineral?

(a) Zinc (b) Asbestos (c) Coal (d) Asphalt
ELpeu(meuaTeLDHMIET 6T G)enLp Seflob?

(=) gSspabD () pevbuevrey (@) Hlossh (/F) evumadl

The Panama Canal shortens the distance between

(a) The Atlantic Ocean and the Mediterranean sea (b) The Red
sea and the Arabian sea (c¢) The Pacific and the Atlantic oceans
(d) The Atlantic ocean and the Indian ocean

UemTom - sTeeuml  6hy Q@  SLs@EhdsdlaLCuwrear  gIrsamss
GOn&ES ) ?

(=) @lonamgs LOHMD WHHW SOTESLO (2),) CFmsLO HMLD
SrdssLe (@) uwdlls  wOomb  lerargd  Cu@mRISL6D
(rF) 1 eomatmig.s LOHMID @bSIwLs GlLmBIsL 6

Which of the following is a port in Persian Gulf?

(a) Port Said (b) Suez Port (¢) Eden Port (d) Bandar Abbas

UMT&s cuenaT@LMeliled 2 6Ter Henm(LPSLD

(21) @swl geopwpsid () GU GopPsD (§) Frar amppsd

(FF)  LIGHTLITIT <HLILIT6N
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The strait of Hormuz joins which of the following water bodies?

(a) Red sea and Mediterranean sea (b) Persian Gulf and
Gulf of Oman (c) Caspian sea and Black sea (d) Gulf of Oman
and Arabian sea

anmioe Brésnd) erbg @) Brbleosmarn Qanammsdng)?

(@) QemsLéd wHMD LSHU FOTSSLL (=) UTTES GuameTELIT
LHOID e euameT@GLT (&) sTevfwer L LOMID HHHISGL 6D
(IF) GRLOGI GUENETELIT LHMILD TS SL_6d

Which of the following pairs does not match?

(a) Trans Siberian Railway — Moscow to Vladivostok
(b) Canadian Pacific Railway — Halifax to Vancouver
(¢) Orient Express Railway — Paris to Istanbul (d) Cape Cairo
Railway — Warsaw to Madrid

ELpeu(meuaTeLDMIET 6ThS G)enemt ClLITHHSTHS?
(=) wrreev  evsiflwer  @@UyluTens  —  wreCET  (1PpFHED
edlermgeuren s eueny  (<=),)  semquien-uSGs @mUuylurens —
anrellLmgen (pH@® eumeangacul eueny (@) efluear e&eavldyev
@muylureng — urflev s @evgreryed () Csl CewGrm
@ @ULLILTeng — eumien T (LpGe T euanty

Which part of North America is the most thinly populated?

(a) Alaska (b) California (c) Eastern Part of USA (d) The
region of great sakes

&ESETESTNE Gapounar el HGwflGsl L@

(=) @emavar (<) selCumialur (&) fwse w.erev.er. (FF) Guiflw
gilsear ugH

Which part of Africa has the highest population?

(a) Valley of the river Niger (b) Valley of the river Nile
(c) Valley of the river Congo (d) Valley of the river Zambezi

&ESETESTnE F & peTer < aM&Es0 LGS
(1) BT LETeTEEMEHSE (<) b LaTeTssTsEE (@) smmGasr

LIGTeTSST&H @ (IF) FmbLes] LIGTeTSS TdH

Which continent has the highest growth of population?

(a) Africa (b) South America (¢) Europe (d) Asia

&ESETESTNS cUeTTES DFSHLD SrantiLi(HLD HeHrL_Lb

(=) uldfssr (<) Cser 9CwMssT (@) gCrmiur () o Hwr
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Which is a thickly populated area?

(a) Polar region (b) Sahara (c) South-Eastern Asia (d) Kalahari
&Q@J@mmmﬁ)gjd‘r &ESETESTNE DS HLoeT LGS 6Tg)?

(=) gl GrGssd () sapmyr (@) Osadlpse pswur
()  seanmifl

The most common cause of death in the developing countries is
related to

(a) infectious diseases (b) respiratory diseases (c) digestive
systems disorder (d) cancer

auaT(Hd Brhsated Blapd @nUidnarer sTyeamTid

(=) Qarom Cpmiser (<) deunssd Camarmm (@) CQefbrer e o
Yrggenan (FF) LomCHm

Population growth in most of the developing countries of Asia is
determined by

(a) Birth rate and migration (b) Migration and death rate
(c) Birth rate, death rate and migration (d) Birth rate and death
rate

g flureiler o eter euer@Hd BrHseafan ESETEASTNE  cueTTES GO
Srorafliug

(@) Gpiy eisb wpmb @LUCuurssd (<) @LUCuurdEd LHHD
@niy eisd (@) Wiy eigbd, @iy 6isb wHmbd GLUCuwTEs
(F) Gy &g wpmibd Gnliy eisb

Which one of the following countries has the highest density of
population?

(a) dJapan (b) India (¢) China (d) Indonesia

LDESET L TEE SAFsAperar BB

(=) guumer (<) QpdHwr () Farr () QbCsTCanlwim

The Boat People refers to

(a) Vietnamese people who moved to Hongkong fearing
persecution (b) Hongkong people who moved in boats to
Thailand (¢) Vietnamese people who moved to China
(d) Vietnamese people who moved to Malaysia

6 U/ID 31602/UCHB



30.

31.

32.

33.

‘CuL &&ET eTETUGITSET

(=) epmmsTHRIS DG @LbCUWHS el mmd DG &6
(=) sruompdnEg uLded @LDLCAUWTEES aDTBISTE  DESET
(@) FameihE @LbLOUWAHS MWl Brd waser (iF) LELWTa|sHaE
@LDCUWITEE SIWLBITLD D&HSET

Which one of the following has not been forced migration?

(a) Slave trade (b) Australian convicts (c) Evacuation of Tamils
from Sri Lanka (d) Cubans to USA

EpeumeuareudmieT ergl UL mutiLBESUULL @ NGuwTEs 6den?
(=) @ngenn assd (<)  pwHCrellu  GoHmeuraflser
(®) Qeoriemsuledmbg CeueCunmLILIL L SLEILPTEHET (FF) W.6Te.6T.-6&E
QFeogyid SHujum B iq e

Balconies in houses are most common in

(a) British houses (b) American apartments (c) Houses of
Ireland (d) Spanish houses

ai(psafldr Lmsei Siemwhg SrarTiiu(eug)

(=) WMLy aiBsafled (<) <Qwlss SIO&@WLMG Guuimlysafla
(@) Swrerbg eihsaie () avurefley ai(Hsafle

Steep sloping roofed houses are characteristic feature of regions
of

(a) Heavy rains and snows (b) High temperature and
sunshines (c) Strong winds (d) Hilly terraces

sfeumar  saeorser Qamem  eI(H&er QrCsesdled
srawTLILI(H & Tme.

(=) <l wep wHomb uel (<) <dls Cesliublened HMID
Qeuulipasmile| (@) Geuswns smhm (FF) wenels 9FCssLd
The shape of the roof of a house depends mainly on

(a) Climatic conditions (b) Availability of roof material
(¢) Nature (d) Availability of water

(1 QI g6 aeD GTaNG FTTHSS)?

(@) sraflae (<) SHoLssssmig syl QurmLse (Q) @unans
(FF) Slen_Gadaniqu Bir
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‘Igloos’ mean the

(a) Grey flat tents of the nomads of Central Asia (b) Snow huts
of the American Eskimo (c) Dwelling of the fishermen of Brazil
(d) Thatched huts of India

‘@E eTeTLIg)
(=) wswu  PAw  préLmgseflen  gaLmyd (<) CLAGS

arevlGuorssaiian Lafl @yams (@) MCrfe WSareursaflen eudliidL b
(FF)  @BHwrelc 2 erer gmany 6

Which of the following towns is a modern planned town?
(a) Kolkata (b) Varanasi (c) Chennai (d) Chandigarh
Epeumeuareudmier erg SO (H SLLUUl L BSTLb?

(=) Qsrevsgzr (<) ecurrenndl (@) Cgerenar () FevriqsT

The term ‘Conurbation’ was coined by

(a) Harvey,D (b) Patrick Geddess (c) Dickinson, R.E
(d) Ullman

‘FSerTCLIaYET 6T6TM GUTTSEMSENI 2 (heu TS euT

(1) g apmiedl (<,) CULME Qegigev (&) <iT.FF. 19856V (FF) 2 6O me

Which one of the following is correctly matched?

(a) Mega city — Patrick. Geddess (b) Primate City — C.O. Sauer
(c) CBD - C.C. Colby (d) Rank Size Rule — G.K. Zipf

Epeumeuaeupmier erg) eflwimer Gegmig ?
(=1) Qs &g — Cuiflg gged (<) PSETEnLd BSILD — &l.g. FTEUT
(@) &g - 8.8 srald () Crmisg ensav ered — 89.Ga. 6rdl’Ll

Which one of the following is a Mega city in the world?

(a) Tokyo (b) Hyderabad (c) Nairobi (d) Frankfurt
Epeumeuareudmier erg) rELHD psyd (Mega city)?

(=) CLmsdlCGuir (<) emansyruns (&) evpGrmal (FF) Gymrhium’

The breed of sheep which produces the best quality wool is
(a) Kutchi (b) Merino (c¢) Chokla (d) Magra

9Sles  srbamips sbuell  ahg  euems  Cebmwirigedmhs)
Quplin®&mg?

(=) ELS () CwhGearm (§) Csmdeor (i) wrdym
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Kalgoorlie and Coolgradie mines are in

(a) Africa (b) North America (c) Europa (d) Australia

&I T LOHMILD FnEOGTIq FIBIGBIGET 6T G 6Teren?

(=) < ulfssT (=) oL CwflgsT (@) e Crmium

() < evdGredum

SECTION B — (5 x 4 = 20 marks)

Answer any FIVE questions.

All questions carry equal marks.

Describe the nature of resources.

cuermigafler seranto GMsg efleaul.

Give an account on conservation of forests.

sTHE@aTL LTEISETSS0 LDHD 6(h CgTE@EHLIL H(H.

Write about the atomic energy.

Semigs&s unl Gl eT(psis.

What are the types of Trade?

UTHSHSE 6T CUEMSSHET WTen6?

Describe the factors affecting the growth of population in the

world.

2 & W&EET (gTens euatidflenwits U@ srranflaamer afleul.

Explain the types of migration.

@LUQuursHuler euanssamarts LD elleul.

What are the types of rural settlements?

omoliyw GuulmlLsefler cuamager wreneu?

Write an account on important trade routes of the world.

2 adlerm P& euTHSS aUfls SL_EiIGmaTL LD 6T(LpSis.
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SECTION C — (2 x 20 = 40 marks)
Answer any TWO questions.

All questions carry equal marks.

Explain the distribution and production of tea and coffee in the
world.

2 adler Caulleney wHmD smdl Lufligeten LiFeue LHMID 2 HUSSH GOSSI
ellfleurs er(pgis.
Describe the major ocean routes of the world.

2 avdlen W& s LTanssamaril LmM afleu.

Give a detailed account on major fishing grounds of the world.

2 e p&Hw Berdig s somsdr @Mss e ellfourar QgTELiL Sms.
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